7 | 1 == I I= A
SRR - B AGGTEMERE (ML)
161 165 169 173 177
1 18 1 -6 1 6 1 -5 1 13
9 % 9 % 2 _é_z 2 7a-b-4 2 15ab?
3 3-x 3 4
3 —4a+5b 3 8a+7b+9 3 —ba+7b-3 3 i 2o
4 7+2)3 _
4 3y 4 -3z 4 Idab 5 2+ ; 22—8
5 4+2/3 5 1 5 -11+9.2 L+ T
6 b5:2-z—13 6 22-2-6 6 2 -8+l 174 178
162 166 170 T8 1 24
T s P— 111 2 Tz+lizy 2 7a-4
, 5 ), o 2 012 3 Sa+3b 3 7
24 3 dz+y+9 4 243 4 6x-19
3 5x+3y 3 ow+2y-9 4 3 5 3x-19 . a7
4 —24p? 4 6a% 5 164703 175 12712
5 6-4J2 5 7-3J3 6 Sr—41 . 5 1 79
6 2¢°+5x+31 6 6x-29 1 4
171 2 9p+2 ,
163 167 — s 107 2 24
1 28 1 -7 , 7 4 3z+6 30
2 _L 2 4 12 5 13x+11 4 9r+18
18 3 3 I4x-3y+3 12 5 L +é
3 5a-2b+3 3 3x-y-4 4 5ab? 1 76
4 Sxy 4 276° 5 —7+9)2 . 3 1 80
5 2/2 5 3+2/3 6 11z+8 0 6 1 -3
6 212 +3x—43 6 13x—1 172 s 7405 2 8-2
3 6-5
164 168 1 56 4 d4x+17 5
T 4 1 s 13z-13 4 a-19
19 2 = 10 g Lzl
2 42 , 3 10
2 3 a-2b+4
13z 4
3 ey 3 —bx+dy+7 4 —Sxi1
4 5a-2 4 Saih 4 =
a+ 5 9-2/5
5 J3
6 2_25 5 3-2/2 6 I10x+41
c 6 222+7x—13




